BT 2= AR SR T A (B R

BV W N S E RS Rr EA ol
106524 [ 558 A\ Bideat &

A — B

107 AR5 22

| s | sman
JEFH P2 2 1,091 1,006
(b SEER 653 535
SRR 65 53
REFASH B 176 133
T 107 63
=1 2,092 1,790

BV W N S E RS Rr Ao
108Z2F [ At =

251 %f’%iﬁﬂ B2
BN | HEEAH
TEFHREE A 25 360
REHR 47 177
EVEER 0 21
&S NEERE 9 34
A <Rt 2 18
=X 83 610

BV W N S E RS Rr A
10752 S 58 AN Bt

ap | W B-S

SR | SR
JTE FHPHEE 21 1,174 1,065
(e 669 550
or 55 3
PR ERL 168 132
T e R 6 7
=T 2,152 1,867

BV W= N S E RS Rr Al
10952 s At =

apy | D B

BHENE #&%J\%&
JEFH PHEE 21 35 385
BN 15 174
HilE R 1 13
REFRNER 9 29
s Rt 7 22
& 67 623

BV W N S E RS Rr i Ao
10852 AF [ 558 A\ Bideat &

ap | W B-S

SR | S
JTE FHPEHEE 21 1,219 1,089
(R 63 504
SR n 30
e PR R 120 08
s e 100 78
&3 2,161 1,889

# | mmrm | mEin
R 2 3 8
EEEHER 25 190
R 4 18
RS 3 f
R 3 17
=t 71 704




BT = AR SR SR T A (B R
OS2 A Bt

JEFH PR 2 1,220
R EEETER 673
HEREER 46
&S NEERE 128
A <Rt 86
=% 2,153

BT 2= AR SR SR T A (B R
109524 858 A\ Bideat &

2 FB | SR

HEANH | BEAK
JE FH PR 21 37 463
REER 21 216
HEREER 2 4
&S NEERE 6 39
ARt 3 34
=% 77 756




